




STATEMENT- Statement is an information or fact related to

any general subject. कथन ककसी सामान्य किषय से

संबंकित सूचना या तथ्य है।

ASSUMPTION- Assumption is the hidden or unsaid part of

the statement. An assumption is said to be

hidden because it is generally assumed

supposed and taken for granted. अनुमान कथन

का किपा हुआ या अनकहा भाग है। एक िारणा को

किपा हुआ कहा जाता है क्ोकंक यह आम तौर पर मान

किया जाता है ।



unsaid

Let’s meet in meeting- Boss said to Junior



They will 

catch me



ASSUMPTION-

1) People will read the notice carefully

2) Every People will stop using mobile phone at that place.

3) People were using mobile phone at that place

4) Those people who are coming at that place are literate.

5) People who are coming at that place can read and 

understand English language

1) लोग नोटिस को ध्यान से पढ़ेंगे

2) उस जगह पर सभी लोग मोबाइल फोन का इसे्तमाल बंद कर द़ेंगे।

3) उस जगह पर लोग मोबाइल फोन का इसे्तमाल कर रहे थे

4) जो लोग उस स्थान पर आ रहे हैं वे साक्षर हैं।

5) उस जगह पर आने वाले लोग अंगे्रजी पढ और समझ सकते हैं



Points to be remembered:-

(i) Assumption is always Indefinite & Positive

(ii) Some words like only, each, any, every, all, question 

indicating word ( why, these, what), Answer indicating 

words(therefor), Definitely, But , Certainly exist in the 

assumption that assumption will always be 

explicit(False).

(iii) Any assumption that is talking about the 

social welfare (positive) , Govt. policies that assumption 

will always be implicit(True).

(iv) Comparison/comparative degree is always wrong.

(v) Restatement is never implicit.



याद रखने योग्य बात़ें :-

(i) धारणा हमेशा अटनटित और सकारात्मक होती है

(ii)  कुछ शब्द जैसे केवल, प्रते्यक, कोई, प्रते्यक, सभी, प्रश्न इंटगत

करने वाला शब्द (क्ो,ं ये, क्ा), उत्तर का संकेत देने वाले शब्द

(इसटलए), टनटित रूप से, लेटकन, टनटित रूप से इस धारणा म़ें

मौजूद हैं टक धारणा हमेशा स्पष्ट होगी ( गलत)।

(iii) कोई धारणा जो समाज कल्याण के बारे म़ें बात कर रही है

(सकारात्मक), सरकार। ऐसी नीटतयां जो धारणा हमेशा टनटहत

होगंी (सत्य)।

(iv) तुलना/तुलनात्मक टिग्री हमेशा गलत होती है।

(v) पुनकक थन कभी टनटहत नही ं होता है।



Statement :-
The State government has decided to appoint four thousand primary 
school teachers during the next financial year

राज्य सरकार ने अगले टवत्तीय वर्क म़ें चार हजार प्राथटमक टवद्यालय के
टशक्षकों की टनयुक्ति करने का टनणकय टलया है
Assumption:-
I. There are enough schools in the state to accommodate four 

thousand additional primary school teachers. राज्य म़ें चार हजार
अटतररि प्राथटमक टवद्यालय के टशक्षकों को समायोटजत करने के टलए पयाकप्त
सू्कल हैं।

II. The eligible candidates may not be interested to apply as the 
government may not finally appoint such a large number of 
primary school teachers. योग्य उम्मीदवार आवेदन करने के इचु्छक नही ं
हो सकते हैं क्ोटंक सरकार अंततः इतनी बडी संख्या म़ें प्राथटमक टवद्यालय के
टशक्षकों की टनयुक्ति नही ंकर सकती है।

A. Only assumption I is implicit
B. Only assumption II is implicit
C. Either I or II is implicit
D. Neither I nor II is implicit
E. Both I and II are implicit



Statement :-

A warning in a train compartment - "To stop train, pull chain. 

Penalty for improper use Rs. 500.“िर ेन के टिबे्ब म़ें एक चेतावनी - "िर ेन

रोको, चेन खीचंो। अनुटचत उपयोग के टलए जुमाकना। 500 रुपये।

Assumption:-

I. Some people misuse the alarm chain. कुछ लोग अलामक चेन का

गलत इसे्तमाल करते हैं।

II. On certain occasions, people may want to stop a running 

train. कुछ खास मौको ं पर लोग चलती िर ेन को रोकना चाह सकते हैं।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

The concession in rail fares for the journey to hill stations has 

been cancelled because it is not needed for people who can 

spend their holidays there. टहल से्टशनो ं की यात्रा के टलए रेल टकराए म़ें

दी जाने वाली ररयायत इसटलए रद्द कर दी गई है, क्ोटंक उन लोगो ं को

इसकी जरूरत नही ं है, जो वहां छुटियां टबता सकते हैं।

Assumption:-

I. Railways should give concession only to needy persons.

रेलवे को टसफक जरूरतमंद लोगो ं को ही ररयायत देनी चाटहए।

II. Railways should not encourage people to spend their 

holidays at hill stations. रेलवे को लोगो ं को टहल से्टशनो ं पर छुटियां

टबताने के टलए प्रोत्साटहत नही ंकरना चाटहए।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

"The bridge was built at the cost of Rs. 128 crores and even civil bus 

service is not utilizing it, what a pity to see it grossly underutilized." - A 

citizen's view on a new flyover linking east and west sides of a suburb.

"पुल 128करोड रुपये की लागत से बनाया गया था और यहां तक टक टसटवल बस सेवा

भी इसका उपयोग नही ंकर रही है, यह देखकर दुख होता है टक इसका पूरी तरह से

उपयोग नही ं टकया गया है।" - एक उपनगर के पूवक और पटिम पक्षो ं को जोडने वाले एक

नएफ्लाईओवर पर एक नागररक का दृश्य।

Assumption:-

I. The building of such bridges does not serve any public objective. ऐसे

पुलो ं के टनमाकण से कोई सावकजटनक उदे्दश्य पूरा नही ं होता है।

II. There has to be some accountability and utility of money spent on 

public projects. सावकजटनक पररयोजनाओं पर खचक टकए गए धन की कुछ

जवाबदेही और उपयोटगता होनी चाटहए।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

The Government has decided to levy 2 percent on the tax amount 

payable for funding drought relief programs. सरकार ने सूखा राहत

कायकक्रमो ं के टवत्तपोर्ण के टलए देय कर राटश पर 2 प्रटतशत लगाने का टनणकय टलया

है।

Assumption:-

I. The Government does not have sufficient money to fund drought 

relief programs. सूखा राहत कायकक्रमो ं के टलए सरकार के पास पयाकप्त धन

नही ं है।

II. The amount collected by way of surcharge may be adequate to 

fund these drought relief programs.अटधभार के रूप म़ें एकटत्रत राटश

इन सूखा राहत कायकक्रमो ं के टलए पयाकप्त हो सकती है।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

It will be a substantial achievement in the field of education if 

one provides one school for every village in our country and 

enforce attendance. टशक्षा के के्षत्र म़ें यह एक बडी उपलक्ति होगी यटद

कोई हमारे देश के प्रते्यक गांव के टलए एक सू्कल प्रदान करता है और

उपक्तस्थटत को लागू करता है।

Assumption:-

I. Children in villages do not attend school regularly. गांवो ं म़ें

बचे्च टनयटमत रूप से सू्कल नही ं जाते हैं।

II. Providing school to every village is desirable. हर गांव म़ें सू्कल

उपलि कराना वांछनीय है।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

The government has decided to disinvest large chunk of its equity in 

select public sector undertakings for a better fiscal management. सरकार

ने बेहतर टवत्तीय प्रबंधन के टलए चुटनंदा सावकजटनक के्षत्र के उपक्रमो ं म़ें अपनी इक्तििी

के बडे टहसे्स का टवटनवेश करने का टनणकय टलया है।

Assumption:-

I. The amount generated out of the disinvestment process may 

reduce substantially the mounting fiscal deficits. टवटनवेश प्रटक्रया से

उत्पन्न राटश बढते राजकोर्ीय घािे को काफी हद तक कम कर सकती है।

II. There will be enough demand in the market for the shares of these 

undertakings. इन उपक्रमों के शेयरो ं की बाजार म़ें पयाकप्त मांग होगी।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

Please do not use lift while going down - an instruction on the 

top floor of a five-storey building. कृपया नीचे जाते समय टलफ्ट का

उपयोग न कऱें - पााँच मंटजला इमारत की सबसे ऊपरी मंटजल पर एक टनदेश।

Assumption:-

I. While going down, the lift is unable to carry any load. नीचे

जाते समय टलफ्ट कोई भार उठाने म़ें असमथक होती है।

II. Provision of lift is a matter of facility and not of right. टलफ्ट

का प्रावधान सुटवधा का टवर्य है न टक अटधकार का।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

"I have not received telephone bills for nine months inspite of several 

complaints" - A telephone customer's letter to the editor of a daily. "मुझे

कई टशकायतो ं के बावजूद नौ महीने के टलए िेलीफोन टबल नही ं टमले हैं" - दैटनक के

संपादक को एक िेलीफोन ग्राहक का पत्र।

Assumption:-

I. Every customer has a right to get bills regularly from the telephone 

company. प्रते्यक ग्राहक को िेलीफोन कंपनी से टनयटमत रूप से टबल प्राप्त

करने का अटधकार है।

II. The customer's complaints point to defect in the services which 

are expected to be corrected. ग्राहको ं की टशकायत़ें उन सेवाओं म़ें दोर् की

ओर इशारा करती हैं टजन्ह़ें ठीक टकए जाने की उम्मीद है।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit



Statement :-

The government has decided to pay compensation to the tune of 

Rs. 1 lakh to the family members of those who are killed in 

railway accidents. सरकार ने 10 लाख रुपये मुआवजा देने का फैसला

टकया है। रेल हादसो ं म़ें मारे गए लोगो ं के पररजनो ं को एक लाख

Assumption:-

I. The government has enough funds to meet the expenses 

due to compensation. मुआवजे के कारण होने वाले खचों को पूरा

करने के टलए सरकार के पास पयाकप्त धन है।

II. There may be reduction in incidents of railway accidents in 

near future. टनकि भटवष्य म़ें रेल दुघकिनाओं की घिनाओं म़ें कमी आ

सकती है।

A. Only assumption I is implicit

B. Only assumption II is implicit

C. Either I or II is implicit

D. Neither I nor II is implicit

E. Both I and II are implicit





How To Approach?



1) The course of action either solve or lesser the problem.

2) The course of action should be practical.

3) The course of action should be directly related with the 

statement. 

4) Negative course of action should not be taken.

5) Simple problem must have simple course of action, because 

complex course of

action may create another problem.

6) The course of action should independently be able to solve 

the problem and it

should not be depend on other conditions.

7) Suggested course of action should not create any new 

problem.

8) Suggested course of action should be practically possible.



Statement :-

A large number of people in ward X of the city are diagnosed to 

be suffering from a fatal malaria type.

शहर के वािक X म़ें बडी संख्या म़ें लोगो ं को घातक मलेररया प्रकार से पीटडत

माना जाता है।

Action:-

I. The city municipal authority should take immediate steps to 

carry out extensive fumigation in ward X. / शहर के नगरपाटलका

प्राटधकरण को वािक X म़ें व्यापक धूमन करने के टलए तत्काल कदम उठाने

चाटहए।

II. The people in the area should be advised to take steps to 

avoid mosquito bites. / के्षत्र के लोगो ं को मच्छरो ं के कािने से बचने के

टलए कदम उठाने की सलाह दी जानी चाटहए।

a) Only I follows

b) Only II follows

c) Either I or II follows

d) Neither I nor II follows

e) Both I and II follow



Statement :-

Severe drought is reported to have set in several parts of the 

country./ देश के कई टहस्सों म़ें गंभीर सूखे की क्तस्थटत होने की सूचना है।

Action:-

I. Government should immediately make arrangement for 

providing financial assistance to those affected./ सरकार प्रभाटवतो ं

को तत्कालआटथकक सहायता उपलि कराने की व्यवस्था करे।

II. Food, water and fodder should immediately be sent to all 

these areas to save the people and cattle./ लोगो ंऔर मवेटशयो ं को

बचाने के टलए इन सभी के्षत्रो ं म़ें तुरंत भोजन, पानी और चारा भेजा जाना

चाटहए।

a) Only I follows

b) Only II follows

c) Either I or II follows

d) Neither I nor II follows

e) Both I and II follow



Statement :-

There is an unprecedented increase in migration of villagers to 

urban areas as repeated crop failure has put them into precarious 

financial situation / ग्रामीणो ं के शहरी के्षत्रो ं म़ें प्रवास म़ें अभूतपूवक वृक्ति हुई है

क्ोटंक बार-बार फसल की टवफलता ने उन्ह़ें अटनटित टवत्तीय क्तस्थटत म़ें िाल टदया

है।

Action:-

I. The villagers should be provided with alternate source of income 

in their villages which will make them stay put / ग्रामीणो ं को उनके गांवो ं

म़ें आय का वैकक्तिक स्रोत उपलि कराया जाना चाटहए टजससे वे रुके रह़ें

II. The migrated villagers should be provided with jobs in the urban 

areas to help them survive / प्रवाटसत ग्रामीणो ं को जीटवत रहने म़ें मदद

करने के टलए शहरी के्षत्रो ं म़ें रोजगार प्रदान टकया जाना चाटहए।

a) Only I follows

b) Only II follows

c) Either I or II follows

d) Neither I nor II follows

e) Both I and II follow



Statement :-

As stated in the recent census report the female to male ratio is 

alarmingly low / जैसा टक हाटलया जनगणना ररपोिक म़ें कहा गया है टक मटहला

से पुरुर् अनुपात खतरनाक रूप से कम है।

Action:-

I. The government should conduct another census to verify the 

results / सरकार को पररणामो ं को सत्याटपत करने के टलए एकऔर जनगणना

करनी चाटहए।

II. The government should immediately issue orders to all the 

departments to encourage people to improve the ratio / लोगो ं को

अनुपात सुधारने के टलए प्रोत्साटहत करने के टलए सरकार तुरंत सभी टवभागो ं को

आदेश जारी करे

a) Only I follows

b) Only II follows

c) Either I or II follows

d) Neither I nor II follows

e) Both I and II follow



Statement :-

Four districts in State A have been experiencing severe drought for 

the last three years resulting into exodus of people from these 

districts. राज्य A के चार टजले टपछले तीन वर्ों से गंभीर सूखे का सामना कर

रहे हैं, टजसके पररणामस्वरूप इन टजलो ं से लोगो ं का पलायन हुआ है।

Action:-

I. The government should immediately start food for work 

programme in the district to put a halt to the exodus. पलायन पर रोक

लगाने के टलए सरकार को तत्काल टजले म़ें काम के बदले अनाज कायकक्रम शुरू

करना चाटहए।

II. The government should make since efforts to provide 

drinking/potable water to these districts.सरकार को चाटहए टक इन टजलो ं

को पेयजल/पीने योग्य पानी उपलिकराने के टलए जल्द से जल्द प्रयास करे

a) Only I follows

b) Only II follows

c) Either I or II follows

d) Neither I nor II follows

e) Both I and II follow



Statement :-
A recent study shows that children below five die in the cities of the 
developing countries mainly from diarrhea and parasitic intestinal 
worms. हाल के एक अध्ययन से पता चलता है टक टवकासशील देशो ं के शहरो ं म़ें
पांच साल से कम उम्र के बचे्च मुख्यरूप से दस्तऔर परजीवी आंतो ं के कीडे से मर
जाते हैं।
Action:-
I. Governments of the developing countries should take adequate 
measures to improve the hygienic conditions in the cities. टवकासशील
देशो ं की सरकारो ं को शहरो ं म़ें स्वच्छता की क्तस्थटत म़ें सुधार के टलए पयाकप्त उपाय
करने चाटहए।
II. Children below five years in the cities of the developing countries 
need to be kept under periodic medical check-up. टवकासशील देशो ं के
शहरो ं म़ें पांच साल से कम उम्र के बच्चों को समय-समय पर टचटकत्सकीय जांच की
जरूरत होती है।
a) Only I follows
b) Only II follows
c) Either I or II follows
d) Neither I nor II follows
e) Both I and II follow



Statement :-
The kharif crops have been affected by the insects for consecutive 
three years in the district and the farmers harvested less than fifty 
percent of produce during these years. टजले म़ें लगातार तीन वर्ों से खरीफ
की फसल़ें कीडो ं से प्रभाटवत हुई हैं और टकसानो ं ने इन वर्ों म़ें पचास प्रटतशत से भी
कम उपज का उत्पादन टकया है।
Action:-
I. The farmers should seek measures to control the attack of insects to 
protect their crops next year. टकसानो ं को अगले साल अपनी फसलों की सुरक्षा
के टलए कीडो ं के हमले को टनयंटत्रत करने के उपायो ं की तलाश करनी चाटहए।
II. The Government should increase the support price of kharif crops 
considerably to protect the economic interests of farmers. टकसानो ं के
आटथकक टहतो ं की रक्षा के टलए सरकार को खरीफ फसलों के समथकन मूल्य म़ें पयाकप्त
वृक्ति करनी चाटहए।
a) Only I follows
b) Only II follows
c) Either I or II follows
d) Neither I nor II follows
e) Both I and II follow




